
𝑁∑︁
𝑘=1

F𝑘 · r𝑘 =
𝑁∑︁
𝑘=1

∑︁
𝑗<𝑘

F𝑗𝑘 · (r𝑘 − r𝑗)

Proof of equality

Given that no particle acts on itself (F𝑖𝑖 = 0, 𝑖 = 1..𝑁), and using Newton’s third
law of motion (F𝑗𝑘 = −F𝑘𝑗) we obtain:

𝑁∑︁
𝑘=1

F𝑘 ·r𝑘 =
𝑁∑︁
𝑘=1

∑︁
𝑗<𝑘

F𝑗𝑘 ·r𝑘+
𝑁∑︁
𝑘=1

∑︁
𝑗>𝑘

F𝑗𝑘 ·r𝑘 =
𝑁∑︁
𝑘=1

∑︁
𝑗<𝑘

F𝑗𝑘 ·r𝑘−
𝑁∑︁
𝑘=1

∑︁
𝑗>𝑘

F𝑘𝑗 ·r𝑘 (1)

Let us consider the last term:

𝑁∑︁
𝑘=1

∑︁
𝑗>𝑘

F𝑘𝑗 · r𝑘 =

= F12 · r1 + F13 · r1 + F14 · r1 + F15 · r1 + . . .+ F1𝑁 · r1+
+F23 · r2 + F24 · r2 + F25 · r2 + . . .+ F2𝑁 · r2+

+F34 · r3 + F35 · r3 + . . .+ F3𝑁 · r3+
+F45 · r4 + . . .+ F4𝑁 · r4+

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·
+F𝑁−1𝑁 · r𝑁−1 (2)

If we group the summands in the rows we get

𝑁∑︁
𝑘=1

∑︁
𝑗>𝑘

F𝑘𝑗 · r𝑘 =

= F12 · r1+
+(F13 · r1 + F23 · r2)+

+(F14 · r1 + F24 · r2 + F34 · r3)+
· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·

+(F1𝑁 · r1 + F2𝑁 · r2 + F3𝑁 · r3 + . . .+ F𝑁−1𝑁 · r𝑁−1) =

=
𝑁∑︁
𝑡=1

∑︁
𝑙<𝑡

F𝑙𝑡 · r𝑙 =
𝑁∑︁
𝑘=1

∑︁
𝑗<𝑘

F𝑗𝑘 · r𝑗 (3)

Thus

𝑁∑︁
𝑘=1

F𝑘 · r𝑘 =
𝑁∑︁
𝑘=1

∑︁
𝑗<𝑘

F𝑗𝑘 · r𝑘 −
𝑁∑︁
𝑘=1

∑︁
𝑗>𝑘

F𝑘𝑗 · r𝑘 =

=

𝑁∑︁
𝑘=1

∑︁
𝑗<𝑘

F𝑗𝑘 · r𝑘 −
𝑁∑︁
𝑘=1

∑︁
𝑗<𝑘

F𝑗𝑘 · r𝑗 =
𝑁∑︁
𝑘=1

∑︁
𝑗<𝑘

F𝑗𝑘 · (r𝑘 − r𝑗) (4)

1


